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OOPS , r\O'\‘ ruch room here.

36



a=3 « dm A(H= 3 dem A2V)=3 dim £V =1 (v=E?)

(pD= (L) ‘
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N=4 1 amAV)=4 ) dm AV =6, am V)= dem A=
V= Mq CanhowS\d“ S‘Pq(.eﬁm) o= 0,1,2,3 and (= !,2)3 -

CO=(T)  BAC = Bow+Bitd?) ACCow™ GGw?)
= BiG-CiG) W+ BiCHw"
L @O WY

Z77
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FAG = {E: H femy @07 4+ DiB'Cemntd
a —?'" Ll
e m wOn;

- 254
- €¢H6+D;6£) w3
©= ¥F = -Bw"+ L E'Cipe
; y 23 / g 127 \\
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Final remarks "Densifies " = nontensoc cmponents of fensors

v

-— t cu HL
SuPPos:: T“ "'ﬁ': Tv..,.oz.-,wd' % = T W is an n-f;rm.

Under a dﬂanse O]C basls e;l = 'egﬁ\-\go( ) ‘i’lﬁc comFonen+ O'FT In 'ﬂ\e
inctuced basis o:f An(V*) ﬁ‘ansforms as ﬁ:ﬂows:
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This-can also be done with ofthe
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